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Date Class

Y

. g Find the prime factorization of 130.

2. . 3 A school conducts a survey about
favorite sports. The coach asks members
. of the basketball team to name their
favorite sport. Give a reason why the
sampling method may be biased.

3. 1A bookstore conducted a survey of the
reading preferences of its customers. The
bar graph shows the results. Explain why
the graph may be misleading.
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4. (3nFind the product
Au.m X 3&?; X SNV. Write the answer
in scientific notation.

Simplify problems 5-8.

5. 4o AmeV\wvm
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Cumulative Test

a~ be
6. (29) ——

——— + 237322
x \ ya—5z2

7. 118 2a2 + 4a? + 3ab? - 332 - 2ah?

8. (11) Almvu

9. (299 The formula F = mo + 32 expresses

Fahrenheit temperature in terms of
Celsius temperature. Find the Celsius
temperature when the Fahrenheit
temperature is 59°.

10. 38) A monument casts a shadow 28.7 feet
long. A man who is 6 feet tall casts a
shadow 8.2 feet long. The triangle drawn
with the monument and its shadow is
similar to the triangle drawn with the man
and his shadow. How tall is the
monument? -

x fool

28,7 tasl 8.2 taal

Saxon Aigebra 1

11. a9 A bag contains 6 red marbles and
4 blue marbles. Find the probability of
drawing a red marble, keeping it, and
drawing another red marble. Write the
probability as a fraction in simplest form.

12. (A road sign in Europe shows the
distance between two cities as

13. (3¢9 Determine whether the sequence
below is an arithmelic sequence.

6,13, 20,27, ...

If yes, find the common difference and
the next two terms.

. 14. (Find the difference (-2.2) - (-6.7).1

Solve problems 15-17.

15. (2016 - 4x = ~2(2x - 8)
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Cumulative Test

continued

16. (29-6y -4 +3y -8 =24

17. 24~0.3c + 05 = 2.6

18. (19 Order the numbers from least to
greatest.

M. IW. -0.5, -2
8 4

19. (9 Evaluate 6c —4d + 3cd for ¢ = 5 and
d=3.

20. ¢ Jason scores 3 points for each:
question answered correctly on an exam.
Write an aigebraic expression for the total
points he will score if he answers
n questions correctly.

Saxon Algebra 1
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